BASTA BOW GUIDE ASSEMBLY [A482-0007]

BOATLIFTS
—_— & FOR MODELS2k40, 2k50, 2x2k

(1) Bow guide loop tube weldment (Qty 1) W307-0003
(2) Bow guide extension tube (Qty2) K204-1091

(3) set screw, 3/8” X 1/2” (Qty 2) S160-6506

(4) carriage bolt, 5/16” X 2-1/4” (Qty 4) S123-0410

(5) Flat washer, 5/16” (Qty 4) S313-0007
(6) Lock washer, 5/16” (Qty 4) S322-0007
(7) Nut, 5/16” (Qty 4) S342-0007

(va) Allen wrench, 3/16” (Qty 1) Q5071-2001

USE 3/16” ALLEN WRENCH -
DO NOT OVER-TIGHTEN.

Doc # L392-0085B 6/23/2022
866-GO-BASTA www.gobasta.com © Basta Boatlifts 2022




